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werenferat & ford e

Instructions for the candidates :

I, e qurEa 3 & Ia 3
Candidates are required to give their answers in their own words as far as
practicable.

2. gt it enferd w R gU i ot Ffre @ &1
Figures in the right hand margin indicate full marks.

3. 39 WvAVE 1 GAgEE G4 & v 15Fe 1 sfafie wwg R mar #

15 minutes of extra time has been allotted to read the questions carefully.

4. % 9¥A9F 3 @3i ¥ fave &, WUF-37 U9 Gvg-F)
This question paper is divided into two sections — Section-A and Section-B.

5. @3- § 48awjlve wva & [ aose sifvard &1 afy wmat 40® e get
& 3 A/ & @l W99 40 3T FT & qoAiwT fHAr AN AAF T & o
1 3% fvifta 1 OMRIT-T3% W RY 77 Wet g &t Fci/Alet @it 97 & 9/ Rt
W} Y@ & g@I3eAY / AT Werd / &% / G AT T OMR IAV-IF H 74T
TET & J=UT QAT TR 3T FiT)
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ich 40 questions are
questions ¢ ions, the first 40 answery

40 est 5
compulsory. If the candidate answers more than q“k parken the correct circle
on carries 1 ma! not use whitener ;

only will be evaluated. Each quest! lue ball pen-
given on the OMR answer sheet with black / b(;lﬂ answer sheet otherwise the

liquid material / blade / nail etc. on the

result will be invalid. :
” . IF 9T
6. wWvE-u i e oy & s g s & q9 dadl y

e 2 3w Fiifra &1 . of 5 subjects of Soctal
In Section-B there are Short Answer Type questions

Sclence. Each question carmes 2 marks. N & 377 33 ¥
sfrerr 5i 5y 307 577 (Q.Nos. 18 9 &, ﬁmfﬁﬂ? 319!’:’5, st of which any
History has § Short Answer Type questions (Q. Nos.

3 questions are to be answered. *
iy faarT 5 6 ey 3w 5 (Q. Nos. 8 7 13) &, P feel 2m7 & Im
g & |
Political Science has 6 Short Answer Type queshions
which any 2 questions are to be answered.

sreboren i 3y 309 9 (Q Nos. 168 18) & Pt el 2990 & I & &)
Economics has 3 Short Answer Type questions (Q. Nos. 16 to 18) out of which any
2 questions are o be answered.

e 3 s ey i w¥ (Q. Nos. 21 & 29) &, ol [t awﬂf'*mﬁ_iff
Geography has § Short Answer Type questions (Q. Nos. 21 to 25) out of which any
3 questions are lo be answered.

NTTRT T § 47 I 5 (Q. Nos. 28 # 31) &, Forrd fewt 29w & Im
& &

Disaster Management has 4 Short Answer Type questions (Q. Nos. 28 to 31) oul
of which any 2 questions are to be answered.

g difafrer 8 §hd ITRIG ¥ (Q. Nos. 6, 7, 14, 15, 19, 20, 26, 27) & | 5% 777 &
fee a4 3w Fvifea &1 sfarra, aetia fom, seimer od soiier 5 geld @ 0%-0%
7 &1 3T & &

Apart from these, there are 8 Long Answer Type questions (Q. Nos. 6,7, 14, 15, 19,
20, 26, 27). Each question carmes 4 marks. One Long Answer Type question each
Jrom History, Political Saience, Economics and Geography is to be answered.

7. [&6! v#R & seiagifa@ IVFTOT T I9ANT TET F

Do not use any type of electronic instrument.

In Section-A there arc 48 objective type

(Q. Nos. 8 to 13) out of
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WYY - 3 / SECTION - A

!ﬁﬁlﬁmiouccUWWQuqunl
R¥T Woar 1 ® 48 7% & giw qvT & ww v fwww e o & P /@ vw it

37 qrr g3y W fwew w oMR ¥z W Rt w1 daE 40 WY & o 3T §

40x1 =40
Question Nos. 1 to 48 have four options each, out of which only one is correct. Mark your

Selected option on the OMR sheet. Answer any 40 questions. 40x1 =40
L el weqe & am Q@ d $-8 @ w3959 e g ® wa w6
fere gan 2

(A) T (B) =

© 3w Jor” it

After the second great war which organisation in Europe emerged to remove the

economic ill effects ?
(A)  SAARC (B) NATO

(C) OPEC (D)  European Union

2. few ww, gpm A & g weeew 3 ¥, weR ag e 2

(A) TR T (B) HIfeT

(€) HEwTE Y (D) ¥ THiE

Who said printing is the greatest gift of God ?

(A) Mahatma Gandhi (B) Martin Luther
(C)  Prophet Muhammad (D) Jesus Christ
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3, s e @ @) = g wE 7

g 17T
@A) 16m
” o) 19 ad
©F 187
What is the minimum age to be a voter in India ?
(A) 16 years B) 17 yeass
(C) 18 ycars (D) 19 years
4. WA W WER F) A e & 2 |
(A) W 3 @ - s wEE
€ U AR I D) T AR g
What type of systém of government is there in India ?
(A)  Federal and Presidential (B) Fedcral and Parliamentary
(C)  Unitary and Presidential (D)  Unitary and Parliamentary
5. WA Y FEE & gEN@ IAEE T4 ¢
(a) iR dme By #R@UE
) 3 - o) TR
The leading coal producing state in India is
(A)  West Bengal (B) Jharkhand
(C) Odisha (D)  Chhattisgarh

6. WRA & WUH FA-WE IAGH I &
() W ol iR g FE aisco)
spr” 7 ol s e e risco)
€ "R ¥ fad |
D) fadrata dr 3R @E we

[1T1TT T H 8N 1.H nadl

Nama A FfFMA



The first iron and steel producing industry is
(A)  Indian Iron and Steel Company (1SCO)
(B)  Tata lron and Steel Company (TISCO)
(C)  Bokaro Steel City

(D)  Viswesvaraya Iron and Steel Plant

7. w@om oA aEtud @
A wEE By TEE M A
(C) ¥ MW (D) agurt |

Golden Quadrilateral is rclated to

(A Railways (B) Roadways
(C)  Watcrways (D)  Airways
8.  TVIF GER €
() Afe 7 (B) acHlfRTR §
(€) Hidert o (D) BT H
Gandak project is in
(A)  Bettiah (B) Valmikinagar
(C)  Motihari (D) Chapra
9. fmadq FF-H s art swaits a3 E @ & 2
(A)  FFF F T FEEA B) W W e gm
oy IaEHl VIR S (D) REEEH! F A

[ 111 ) H [S011-H ne Page 5 of 24




| m?
: ocratic systc
Which one of the following is not according to the dem

ir election
(A\)  Equality before law B) Frec and fair ¢

(C)  Responsible ruling system (D) Rule of majonity
10. e # gwer R &

(A) i @ IETEAT W

(B) MR F R-FF FER T

(C), e it Ferqet g o

(D) st Zr1 3o wifa & fedl &1 @ |

Success of democracy depends on

(A)  disinterest of citizens

(B) illegal activites of citizens

(C) arf'livc participation of the citizens

(D)  sccure the benefits of their caste by the citizens
1. &FER H W F UH FINOTE §
(A) A F TE B) U=hA
(€) I T Dy FeaaR
Bad cfect of feeling of regionalism is
National interest

(A)  Attachment to own region (B)

(C)  National integration (D)  Separationalism
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12, ®huE R
W st dane (B)  FAEIG wUNE
(C) 7 wanm (D) ¥ A FIE 7@
Coal is
(A)  Non-rencwable resource (B} Rencwable resource
(C)  Biotic resource (D)  None of these
13. &I &
1By Wi 3T (B) WFE TR
(C) BEF A (D) T F R T
Landslidc is
(A)  Natural disaster (B) Man induced disaster
(C) Normal disaster (D) None of these
14. TERIR dd & HY4 H 9RO §
A) fevmeed (B) wERaId
Jor” D) T A FE @
The result of vibration of ocean bottom is
(A)  Avalanche (B) Cyclone
(C) Tsunami (D) None of these
[111 | H [S011-H e Page 7 of 24




1S5.

16.

17.

vl ) wAR W adwan 't;g-r-i?mit e Eitd R

(A) 9 @ A

The seismic wave reaching the carth's surfoce first ifl

A) P wave (B) S wave

(C) L wave (D) Twave

T & W R

A AW B TR

(€ WA A oy T AT T

Tsunami is related to

(A) Land (B) Sea

(C) Sky | (D) Nonc of these
QHIA 0T T A Al G PA-H 2

A) S TR oy i feera &
() vims Fiw wr@ wiafa D) T QN QI

Which institution promotes long term loans ?
(A)  Agricultural lenders

(B) Land Development Bank

(C) Primary Agricultura]. Credit Society

(D) Nonc of these

[ 111 ] H | 5011-H ps)
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g wfers fem @ A s w8
(A Fhu e @ fom adx
() Femn ot oy~ ¥

Which in the third sector of Economic development ?

(A)  Agriculture sector (B) Science sector
(C)  Education sector (D)  Service sector
19. =it snfaw =ifa o fent wffem fem ma ) http://www.bsebstudy.com
(A TRIE ® Friwm
) Anitwm o w Al

What was included in the New Economic Policy ?
(A)  Liberalisation (B) Privatisation

(C)  Globalisation (D) All of these

20. I ERT fn wad wT & feg A e fe e § 2

(A} 50Fe B) 70%o

o 10%e © @At

What is the application fee for making a complaint by the consumer ?
(A) Rs.S0 B) Rs.70

(C) Rs. 10 (D) No application fee
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21.  Iqwre Huwn e 9 57

22 3-1":?

When is Consumer Rights Day celebrated ?

1 5th March

(A)  17th March (B)
(C)  19th Apnl (D) 22nd Apnl
22 ANTEM & i sy fEad & 7
A) > (B) =
Jer wa (D) W9X
How many factors constitute globalisation ?
(A) One B) Two
JQ‘( Fawe (D)  Four
23 ®R-F W RwWERR 7
L )  faw A
__101/ e D) & T

Which of the following is a non-government service 7
(A)  Police service (B) Finance service

(C) Mall service ' (D)  Railway service
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29

26.

Tt ) T TE e R A T 2

N TR B) feeet
(C) 9 D) T
Which is the financial capital of India ?

(A)  Mumbai (B) Declhi
(C)  Patna (D) Bengaluru
a T & favea 7@ &

Wy fefeEa wfaum B) iwal &1 fasrem
(C)  THE! YTEA e (D) warea e
Which is not a characteristic of a federal state ?

(A) Written constitution (B)  Power distribution
(C) | Unitary ruling system (D)  Supreme Judiciary

9 TWHR FT IR &

LAY mfeE | dH

 f= D) T R FE

The example of federal government is

(A) America (B) China

(C)  Britain (D) None of these
27. famﬁﬁqﬁaﬁﬁrmﬁqahmﬁfaﬂﬁﬂ%aﬁm ?

(A)  HRRSH AW (B) R FAW

c I Tt Jp)/ AW AR
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: lete Revolyy
i ( Comp on) |
Who among the following led the Sumpumn Kran L

Bihar ?
ol Kumar
(A)  Morarji Desai (B) Nigsh
, h Narayan
(C)  Indira Gandhi D) Jay Praka®

T mem—— T S
) e s @ e @ e b
@) & ¥ dr e @ we w
(C) mmmmm%mwmmmk
D) o 7 sufidt s 3 g v 5 v anfe AR AR
On which of the following points did democratic system get SUCCESS ?
(A)  Abolished the political differences
(B)  Abolished the conflicts between the people
(C)  Majority and minority groups are treated cqually |
(D)  Reduces the economic grade for the poeple standing in the last line
29, TR w4 3T (frove fem 3vme) 1w feafere @i € 2
(A)  F IR & fer | e fam & fau
(€) HENA B W & fere PY TR & fa
For which purpose is remote sensing satellite used ?

(A)  For telecommunication (B) For mcteorology

(C)  For searching the resources (D)  For television

[111)H [5011-Hus| Page 12 of 24




30. P B @ smwm & v ddete am b o

(A)

(€)

(A)

(C)

(A)

R @)
RETAT Dy
Which of the following is the most sensitive city to carthquake ?
Dechradun (B) Ranchi
Hyderabad (D)  Chennai
31. =4 @ e foo oa w0 s & 2

LEIC] (B) @A

or” faem o) [l

Which of the following is called backward state ?

(A)

(C)

Punjab (B)

Bihar (D)

32. WRad e ad IR FwmaErt

(A)

Aoy

| et /31 fRwR % (B)
1 3 | 31 O d% (D)

Kerala

Delhi

| 98 / 30 5 7%
| faa=r 4 31 3T =

Which of the following is Financial year in India ?

(A)
(B)
(C)

(D)

From 1st January to 31st December
From 1st July to 30th June
From 1st April to 31st March

From 1st September to 31st August
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A

REN

35.

Wi Lapt W) f:ﬂ,:'; p}.wﬂ SRR LA h’[“i faun ?

(A Hamfa @ A A A
(C)  wurp (D) ']Fm

. ?
In which post did Victor Emmanuel appoint Count Cavour

(A} Army Chief (B) Ambassador in France
(C)  Prime Minister (D)  Home Minister

T wd &g #) sifa @ sreran fee e 2

(A sfeEE oy feeem

©)  fawmd o) fafeam |

Who started the policy of blood and iron ?

(A)  Mazzini (B) Hiter

(C)  Bismarck (D) William |

[AATE] IR 1 GEAl T FEEH AT ?

(A) & (B) VUM

© @) =

Where was the ﬁ;'sl experiment of the communist governance started ?

(A)  Russia (B) Japan

(C) China (D) Cuba
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b

38.

39.

devfas wift w9 g 2

A wEd, 1917 (B) T, 1917

(C) 3N, 1917 . o) fea, 1905
When did the Bolshevik revolution take place ?

(A)  February, 1917 (B) November, 1917
(C)  April, 1917 | - (D)  September, 1905
w2t aira faega ftaiern fa fren & wafua & 2

@) qfmm | | @) ¥Em

) IR D) T R

In which district is Kanti Thermal Power Project situated ?

(A) Pumia (B) Siwan

(C) Muzaffarpur (D) East Champaran

16 GHY9 S Rad € ?

A TR () W

© ¥R (D) &

Where is the railway workshop situated ?

()  Jamalpur () Bhagalpur
€ Munger (D) Patna
T T I]E FRO T E ?

oy W A @) e s ¥ g
(C) TEA T Y (D) T Ht T

[111 | H [5011-H p8) Page 15 of 24



What in the main cause of Tsunami ?

(A} Earthquake in sea (B)
(€)  Earthquake on mountain D)
0. {mg w R 7

e s (B)
(C) WA YR (D)
What is drought ?

(A)  Natural disaster (B)

_(C)  Normal disaster (D)

a1, e R fiw @ e wRd

| wrea
I-'nrlhquukc in plain i

None of thesc.

sy At A
il 1 A1

Mun-mudc disaster

None of these

(A) TR @) A el

(€ ¥ wERm (Y fearé
The main cause of land degradation in Punjab is

(A)  Dcforestation iB) Intensive cultivation
(C) 6\'crgrazing : (D)  Overirrigation

42. WFE YRR 0 I F A A @

(A)  55% (B) 60%
_9/ 65% (D)  70%

Amount of water present in human body is

(A)  55% . (B) 60%

(C)  65% (D) 70%
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43

a4,

45.

i Ml % a3 dmer wra ) o o R

W T s
- :

€ &« (D) &g
W

hich of the following creatures is found only in India ?

(A} Crocodile (B)  Dolphin

(C)  Whale (D)  Tortoise
dI 3 & wqE Feq we §

y TG (B) dRNRE
©) TR (D) ¥® 3T

The main raw material of cement industry is

(A)  Limestone (B) Bauxite
(C) Granite (D) Iron ore
-9 TR T o T R 4 2

(4) IS (B) Wi
(o g | o) =

Who were the first merchant to arrive Indo-China ?

(A) England (B) French
© Portugal (O) Dutch .
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06

47

48.

wfrra s ey W AE g3 7

030
A 1920 _JM/ ‘

(C) 1935 o) 1942

When did the civil disobedience movement atart ?

(A 1920 B 1930

(C) 1935 D) 1942

I SAw-gEa Jom
@y sifem 3 B S A

€ WA W ) dfras dme A
Rourkela iron and steel industry is in

(A) Odisha (B) Jharkand

(C) Madhya Pradesh (D) West Bengal
iz @ §zaR T TR & T aae @ wgfa Tl 2 3
w el wafe (B) NTEHEH TG
€) wad wgfa (D) TMuERI g

Which type of attitude emerged in urban system lcaving the fcudal system

behind ?  http://www.bsebstudy.com
{A)  Progressive attitude (B)  Aggressive attitude

(C]  Orthodox attitude (D) Exploitative attitude
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Uy - 4 / SECTION - B

3fqard / History
| @Y I WIT / Short Answer Type Questions
o @ 18 5% qg I 1 @ et gt & Ay §1 wew wv & I

o 3% Fraifea &1 N

Question Nos. I to 5 are Short Answer Type. Answer any 3 questions. Each question

carmies 2 marks. 3x2=6

e e R & e snfigan ) s A 2 2
What was the role of Austria in the unification of Italy and Germany ?

»  ZIEl Wl & I 91 7 2
What was the objcctive of Dandi March ?

3. s e wa 9 e ' feoi # 2
“Non-cooperation movement was the first mass movement.” Comment.

a. aﬁrﬁmﬂﬁm@ﬁyﬂhﬂﬁ%«mmﬁ@? 2
How did industrialisation influence the livelihood of labourers ?

5. @%mmﬁmﬁaﬁﬁﬁmﬁwﬁa 2

Mention the characteristics of agro-economic activities of villages.

#1d IWIG WY / Long Answer Type Questions
gy WEAT 6 AT 7ﬁmilﬁ#ﬁiﬁwwmirwﬁm$ﬁv4w

Fratfer #1 e
Question Nos. 6 and 7 are Long Answer Type. Answer any one of them. Each question
1 x4=4

carries 4 marks.
6 aﬁléqﬁwwﬁﬁhﬁ,wsfnﬂﬁwﬁ#mﬁaﬁaﬂﬁl 4

{ Mazzini, Cavour and Garibaldi in the unification of

State the contributions 0

[taly.

f1111 U Meni1-H nal Page 19 of 24



7 T§ Wi siffa @ & 7 fadan wh

What is New Economic Policy ? Discuss.

raife = / Political Sclence
g IAAIT WY / Short Answer Type Questions

&
7Y W s#xam@mﬂvitﬁﬁ#ﬁﬁ‘fﬂﬁ*mi'mm e

2 4% fuifea &1

2x2ng4

.stions. Each question
Question Nos. 8 to 13 are Short Answer Type. Answer any 2 qucs

cames 2 marks.

_$c VA &6 aE AT S A § ? W H

How are the caste based differences prevalent in India ? Explain.
o e e e v 2

What is the importance of Power sharing in dt;mocracy ?

10. TR ¥ qU o™ ARiew & W@ FR 1 2

What were the main reasons for the students' movement in Bihar ?

1) IR A i s o e 2w 2
. How do you sce the future of democracy in India ?

y ATTHAR AT H A &1 F ?

Terrorism is a challenge for democracy. How ?

13. Wl ¥A A deed B Fetart @ik st W o wiie oo e

2x2=4

2

Write a short note on the responsibility and objective of democracy in the

coming society.
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A 3T / Long Answer Type Questions

ot WO 14 U9 15 30 Furdty 1 g @ forelt v a1 T 31 wE g & P
‘ﬂﬁ’mt’ I1x4=4

Question Nos. 14 .and 15 are Long Answer Type. Answer any one of them. Each question
cames 4 marks, § clnd

J-*'Jr".ﬂ’m&;m‘“‘ffﬁﬁmmﬁhﬁWﬁfiazﬁé:mﬂzmtmﬁ
waAr fafa 8 &)

4

Mention different aspects of life in which in India there is discrimination against
women and they are in weak position.

15 WRAAH 1 EwET B AR @ qFma g A

How could democracy be successful in Indin ?

AT / Economics

oy IWAIT W / Short Answer Type Questions
yT WEAT 16 ® 18A% @Y Iww &1 399 § e 2991 & I T udE 47 & [y

2 3% faifia &1 2x2=4
Question Nos. 16 to 18 are Short Answer Type. Answer any 2 questions. Each question
cames 2 marks. 2x2=4
6, sderaed &R @wd € 2 2

What is Economy ?
17 W TR & 9 Eay i 2
Explain the relationship between Income and Poverty.

187 ATMEIE ? 2

What is ATM ?
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#it Fw{iq WIT / Long Answer Type Questions
RYT §ET 19 U4 zoﬁﬁmhflﬁf#ﬁw?wmmirmm*m

4 3w Fraifia #1 gx4=4

- srion

Question Nos. 19 and 20 are Long Answer Type. Answer any one of therm. Each ‘T"""“od
| x4=

cames 49 marks.

19. mr&mi:mquimmk?mtfumﬂmﬁq&mmmhﬁ!

in its rolc in

4

What arc the important clements of co-operation ? Expla

development of a state.

.)"-/ fe & fe e e e % w0 few e e e ¥ > e wfea ferd | 4

Explain with example how India is known as service provider to the world.

e / Geography
Y TAIT W / Short Answer Type Questions
QYT WM zzdzswwmﬂvflﬂ#wsmﬁ#mitmméfﬁv

2 3% Frgifea #1 3x2=6

Question Nos. 21 to 25 are Short Answer Type. Answer any 3 questions. Each question
carmes 2 marks. I3x2=6
21, FEE @V, Ga1 el o R weeE € 2 | 2
How is crop rotation helpful in the conservation of soil ?
}/ﬂﬂﬁﬁaﬁdf?ﬁm%mmaﬁaaﬁml ' 2

Describe the causes of pollution of the rivers in India.
ﬁﬁ%m%mmmmmml : 2

Mcntion four main factors of wildlife deterioration.
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A At & G v g | 3 @ & 2 2
What do you mean by the conservation and management of mincrals ?

25 R FA & I FU AR 2 2

How is solar encrgy produced ?

T4 IA0T W / Long Answer Type Questions
9T WEAT 26 U 27 39 Iwvrw &1 39§ fFw vw &1 30 31 99w 9T & fav

4 3% fraifra #1 1x4=4
Question Nos. 26 and 27 are Long Answer Type. Answer any one of them. Each question
cames 4 marks. ] x4 =4
26.  FETtEvI, Frefrar af Axdtaon @ ame w@ aned € 2 4

What do you mean by liberalisation, privatisation and globalisation ?
yuﬂﬁmmﬁm@mﬁnﬁnmmﬁzﬁmu q
Describe the importance of transport and communication in Indian economy:.

93T WE9T / Disaster Management

#Y IAG WIT / Short Answer Type Questions
0y WCAT 288 31 7% 7Y IANT §1 39 § R 209 & 3¢ §1 0w weA & fow

2 3% frifea #1 2x2=4
Question Nos. 28 to 31 are Short Answer Type. Answer any 2 questions. Each question
carries 2 marks. ' 2x2=4
28. G foa TFR & el € 2 2

How many types of disaster arc there ?
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29 wR fdwor & fem gy wAmd

Suggest measures to control flood.
3077 yEm i g & i sim we Wi

Differenuate between Earthquake and Tsunami.

31 e wdva | et s s s oo s

Describe the role of local administration in emergency management.
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